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Answer the Questions from any one Optlon
OPTION-A ,
- ( Green Chemistry)
. Paper : CHE- RE-6016
Full Marks : 60
.Time : Three houis
| OPTION-B
(Industrial Chémicals and. Environment )
: " Paper : CHE-RE-6026
Full Marks : 60
Time : Three hours -
OPTION-C'
(Inorganic Materials of Industrial Importance )
Paper : CHE-RE-6036
Full Marks : 60
Time : Three hours
OPTION -D .
(Research Methodology Jor Chemistry )
Paper : CHE-RE-6046 :
 Full Marks : 80
: Time : Thiee hours ,
The figures in the margin indicate -
" full marks for the questions.
Answer either m Engltsh or in Assamese.
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1. Answer the followmg questlons

. OPTION-A
- Paper : CHE-RE- 6016
( Green Chemistry )

T AR %@ frare
(a) A green synthetic method should have

ﬂﬁt(ﬂ@ﬁm?@ﬂﬁwﬂnﬁﬁmﬂ -

R (i} hlgh yield

% %Q"TW'T

- - (i) high atom utlhzatlon

- (b)

T A I

(i) high atom -eco'norny

T oI W

. (w) None of ‘the . aboiie :

eoﬁa mmm@%m

The contlnuous use of fossﬂ fuels can

. deplete

WWWWWW@W

i) renewable energy source -

aﬁﬁammvnwmeaima -

. 3(Sem- 6/CBCS}CHEREI/2/3/4/G 2 .

1x7=7

b

(c)

~ than conventional method

3 (Sem-6/CBCS) CHE RE1/2/3/4/6 3

. (i) non-renewable energy source

TSR ¥ & T
(iii) geothermal energy source

¢ —T% e %Qvf

(iv) None of the above '

Green synthetic method is

mﬁm#ﬂﬂfﬁ%@t’z‘ﬂ Wﬁf‘@s

() less efﬁcient
W W
(u} more efﬁc1ent

ofiE I

(iii) more energy consuming

" (iv) None of the above

Contd.



(d) Mortar and pestle are used as a

©

W ofEe 1% fepteat IR =
() . mechanical reactqr .‘
* () laboratory vibrators
(iii) heating. reacters
e RasR
(iv) N‘o‘netof the above-
| ~e9F~ﬁ @uﬂm@%m
'In microwave heatlng
(i) .wl'rol.e material is heated
: simultaneously ‘
. caller spwef R W T W
i) heating is 1ntroduced from the
- surface . , '
- SO SRl o W:ﬁ‘

3 (Sem-6/CBCS) CHERE1/2/3/4/0 4 -

(g)

3 (Sem-G/CBCS) CHERE1/2/3/4/G 5

(iij) heating is transferred from core to
the surface.of material

@ﬁm«wwﬁmmm

(iv) None of the above

.eq«@mm@im

'Crown ether can act as

=i i & ot R asﬁa AT
(i) blocatalyst

(i) asymmetri¢ catalyst

- el SR

(i) phase transfer catalyst o

(iv) photo catalyst
| *«?CBT GBS
B1ocata1y31s usually takes place 1n
TR SBR IS © TABS =
i) water (o) .
(z:i) chloroform (FF&)
(iii) benzene (AE)
(iy) THF ‘
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{d) Mortar and pestle are used as a

e

W W (AR ﬁs fpiest TR A
| (i)r . mechanical reactc_)r .
" () laboratory vibrators -
(iii) heating_ reactors
e Rase
(v} Nohé of the above-
| eoﬁa mm‘@mﬁm
'In microwave heatmg
(i) Whoie material is heated
: sunultaneously ‘
ooty ﬂWTQf RN A T W
~ () heating is 1ntroduced from the
- surface .
- SO SRl o = -

3 (Sem-6/CBCS) CHE'REI/2/3/4/G. 4 -

| (g)

3 (sém-e/cscsy CHE RE1/2/3/4/G 5

(iii) heating is transferred from core to
the surface.of material

@ﬂ@l@%ﬁﬁl&ﬁﬂﬁﬁw@@

(iv) None. of the above

‘evﬁamﬁi@im

'Crown ether can act as

e AR R st Rt “ﬁﬁa LS
() b1ocata1yst ‘
(i) asymmetri¢ catalyst

- oo SEEe

(i) phase transfer cataiyst L

~ (iv) photo catalyst

?FCB‘I ST

B1ocataly31s usually takes place m
e OGRS © AT =

(i) water (2IRY)

(z:i) chloroform (FF%)

(iii) benzene (@ﬂf?ﬂ)

(iv) THF
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Answer the following questions:  2x4=8

(a)

(b)

(c).

@

)=o + CH;;MgBr _——j——> Me—C—OH + Mg(OH)Br
. H;,C " ° : . '

- Fw@l S00% wiwa‘tﬂ%mmm -
'ﬁEﬁ??ﬁsﬁﬁﬂTl. ‘

s

Mentlon two 1mportant chemical

" accidents which . demand the need for

Green Chemistry.

75 gl TR AR T o
| ﬁmﬁqwﬁmmﬁmﬂaﬁm|

Give two advantages of use of catalysts
" in green synthes1s

ca%awww @ﬁﬁmﬁm

What is b10m1m1cry ?.

MW%% 2.

.The followmg Gngnard reaction g1ves '
..100% y1e1d Is it 100% atom
. econormcal ? Give reason.

wote Momrs RiFndiE >oo%%vrm

. Me.

Me

' 'StSem—ﬁ/CBQS)-CHE RE1/2/3/4/G ’5.

-3.  Answer any‘three of . the following

questlons : - - 5x3=15 .
e ﬁmﬁﬁwaﬁaw frat 8 ‘

-.(a) Explaln ‘the difference ‘between
percentage atom economy and
percentage yield. ‘

LIS w«m@%mww@vﬂww ‘
A1 T

(b) Mention the guldellnes necessary whlle .'
des1gn1ng a green synthes1s

: ﬁzmmasgw sl '
. (c) Giv.e the green synthesis of the
. following : 2.5x2=5
weTs fidl ieda ot R ¢
(i) Furfural (W)
(u) BHT o

. (d)j What is clayan ? Where is it used ? G1ve o
two examples ‘ "

- 01ayanf%?www’a?zﬁfr%w

'S(Semfe/i:Bcs;anRE112/3/4/G 7 -"‘Co'ntd.



‘ (e) What are the dlsadvantages of usmg R | (b) .Write short notes bn'-thg‘ following :

conventional oxidation reagents and . G ) ﬁzn ReaRiss esigoe §ib G o ¢
| catalyst ? Mention a green oxidation o (i) Role of Tellurlum in organlci .
- S rcagent and its usage R , syntheses |
: Ww@wﬁa@mmw . e TesEe BelRAE tgﬁast .
: . RS W’jﬁﬁfﬂ‘{iﬁ% ?tﬂﬁ CiESal SHCTHH . . (i) Biocatalysis in organic syntheses
R ﬁmm‘mwmww o | oRE RS (o SR
: ' ' (c) Whatis'a solventless reaction ? Mention
4. Answer the followmg questmns (any three) three advantages of  solventless
3 : 10x3=30 . reaction? Write ‘the necessary
f IR Rt @ﬁa’ R R solventless reaction conditions required
; eers f Wﬁﬂi ( ) S ‘to  complete the  following
i (a) Calculate % atom economy for the ' transformations:. 1+3+2+2+2=10
' ﬁ: ’ R followmg reactlons 2.5x4=10 | . ' Eﬁﬁﬁaﬂﬁm e W@ﬂﬁ%ﬂﬁ fetr
ot mmwm%w«m@%- IR | T e R T SRt
g | L : Y -
0 .(-’*- s . @ e @(Fw o O)LH
IR ) f’ AN o ) eHom HAou * rom
' (m) j\sr NaOEt" Jk + EtOH ‘+ NaBr ’ . ' R=R1=alkyi . ..
. Oy + he Mz o H.M « goi .| (i) CHCOCHCOE + Rx ‘ CH;E0GHCO,Et
(lv) /\Ior ? ) /\(I; ’e K . R= alkyl, X= halogen L : . R

T

* 3 (Sem-6/CBCS) CHERE1/2/3/4/G 8 3 (Sem-6/CBCS) CHE.RE1/2/3/4/G 9. S . Contd.




(d) - Give one example of microwave assisted
solvent free organic synthe31s and |

(e)

contrast it to the conventionial synthetic
procedure.

WWW t@mmﬂ @by
wmmmmam«rw
e gE 40

Give the. trad1t10na1 commer01al

synthes1s of paracetamol and explaln-.

various drawbacks of the synthes1s in

the: context of green chemlstry Give
- also the green synthesis of paracetamol

and eXplam the green aspects.

5+5=10
_-cﬂmmwmaﬁmwwﬁmm

CRow TR (@rwi-le AR Rfen: smRa

-wwmaﬁiwm%mmmﬁww '
- CleEE WHER e ' |

Write down the “twelve pnnmples of
green chemlstry”. Elaborate with

. -example any two of the .“twelve

: pnn01ples of green chemlstty” o ;
6+4=10

g WWW% Bl | <o

'ﬁm«aﬁmaﬁswﬁm e |
'ﬁﬁmas’m W m‘

3 (Sem-6/CBCS) CHERE1/2/3/4/G 10 .~ |

®
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OPTION-B

. Paper : CHE-RE-6026
(Industrial Chemicals and Environment)
1. Answer the following questions : 1x7=7
TS et T Tes foan ¢
(a) Which of the followmg is not a use of 3

hydrogen peroxide ?
o (P! 22T cﬂ’wﬁm IR

() Teardrop

il

' (ii). Bleaching agent

 Regs

(i) Disinfectant

() Antiseptic

a@ﬁw

If acidified potassmm dichromate acts

. as oxidizing agent then’ color changes .

from —

aﬁwﬁawm@m@ﬁaﬁmwfimw
mwﬁm@ma@aﬂﬁﬁaﬂ—

.()) Organge to red

Wﬁéﬁa@l

‘ ‘Contd.




T

" in
@)

(e)

(i) Orange to green

e o GO |

| (i) Yellow to green

maamwmm'

(w) Yellow to red

ﬂﬁ?mwm,

The dens1ty of air is maximum |
“(Fill in the blank)

.WWW_WW|

(wﬁ‘?éﬁeﬁw)

What i$ CF‘Cs ? What 1s the trade name

of CFC?

.CFCsﬁ‘?WﬁTﬁﬁfWﬂWﬁ? '

The purpose “of water budget for'

industries is.to .

Wﬂw ﬁms@mﬁ—

@) reduce fresh water requlrement

mw@amm

(u) promote reuse .

Wwﬁmﬁﬁm

3 {Sem-6/CBCS] CHE RE 1/2/3/4/(} 12

(iii) promote recycling

(iv) All of the above
@I IR

Which metal causes minamata

disease ?

| (O g AT R G 2
9

What is normal -solution and
normality ? ’

.~ Answer all 'questionS'

ox4=8 -

Kk srecal oy Te 4 ¢
(a) What is roastmg? How it differs from '

calcination ? lee example W1th

. reactlon

.' @W%?Wﬁmmmﬂﬁ%ﬁs?

Wmmwmt

(b) . What is'smog ? What are drfferent types

of smog? Write bneﬂy _
@1’?‘5 ?ﬁr—amwmmml

"3(Sem-6/CBCS)'CHERE1/2/3/4/G 13 L Contd.



(c) What is Eutrophication ? |
R R

(d) Wnte the nuclear reaction 1nvolved in

‘ hydrogen bomb. Is it more powerful |

than that-of fissmn bomb ?

SRS AT TS OB A B

;-Gmmﬂqiﬁkm@m'@mwﬁﬁrtﬁ@ﬂﬁﬁ'aﬁr?
"3, Answer any three questlons 5x3=15
. Riezieat Si’sﬁ Tew 1 8

,.'~(a) Describe the Bosch processn for

: industrial Preparation of hydrogen. How

it differs from productlon of hydrogen -
from methane? 3+2=5 -

'me%awwa’s’wm

I M| 3 opmferst ﬁwaavﬁtqﬁmm_

| W«%ﬁ%mq%ﬁw

. (b) ‘What are particulate matters? . How
. they ‘pollute’ air ? What is AQI? Does
paruculate matters effect in AQI? -
, 1+2+1+1=5
| ngﬁ?WWWWWW?
. AQ ’WWAQIGW cﬂﬁlﬁ‘ﬁ

3.(Sem—'6/CBCS)’CHERE1/2/3/4/G 14

g

What is ground water pollution ? How

it causes ? How can we reduce it ?

1+2+25.
%ﬁaa@qiﬁm%?@?ﬂ?ﬁ’m

: ilﬁﬁﬁﬁ$5§ ?3m$<ﬁmﬁ3iﬁﬂﬂa¢%19M3?
@

Describe the pond 'ecosy‘stem

) q@aﬁﬁ@%@aﬁﬁmwﬁml

(e)

Answer any three of the following :

(a)

What is b10<:ata1ys1s ? How 1t d1ffer from :
chemlcal catalysm ? Write one advantage ‘
and one dlsadvantage of biocatalysis

. over ehemical catalysis ? 1+2+2=5

SO B 2 Z AR SRBT o KT
LT ?@%avaﬁﬂa~dﬁﬁ$‘aﬁM1vm<’Gﬁﬁ*ﬂ
forat

o 10x3 30‘

(1) Descr1be one. manufacturmg :
| method of common salt. erte two

uses of common salt. .- 3+1=4

. mmqm«anawqwl%acﬁrwn
| ﬁ?arﬁwiﬁrM| |

'3(Sem-6/CBCS)CHERE1/2/3/4/G,15 " 8 . Contd.




(i) Write all chemical equations

h (i)

® 6

(i)

involved for the’ preparatmn of 1

sulphunc acid. - 4

' %%@W%WW

ﬂﬁhmﬁzm

Write some uses of sodium
hydrox1de . ‘ 2

f swwmmwml |

W_hat are greenhouse gases ? Write
fev_v hames of greenhouse gases.
How it causes- global Warming? :

1+142=4

ﬂwﬂim%?%@ﬁmm@ "
. _mmltﬂ%cﬁmmﬂaﬁsz'
.@’Cﬂ?ﬁiwﬁ‘zn? L :

Descrlbe various effects of global |
'warmmg on

’(a) forest

(b) Crops ancl

() water resources L -6

3 (Sem-6/CBCS) CHE RE1/2/3/4/G 16

© 0

CWWWMWW
mﬂ*@ﬂ@m?

@) R

(}) *F7

(%) & A=A

What are different categorie's of

. water quality paraineters ? Give
two examples each. 3

mﬁzsﬂs«ﬁmm%%?
eI 7570 T

(ii)' Describe "the different sewage

treatment methods. ~ ~ s

e AN e AR AR TI R

(uz) What is TDS? I_-Iow is it -

@ 6

determmed 2 T2

TDSﬁ??TDS ma’toﬁcﬁarca?

Describe any five non—conventlonal
energy sources. S
WWWWW%&W@WW |
WI ' ’

_ 3(Seﬁ1—6/'cacs1 CHERELj2/3)4/6 17 . Contd.
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e

© (i) What érq mé'beneﬁts and harmful

- e‘ffects of ~hydr6eléctric powers ?

5
@#%xm%mﬁMsmawﬁwmgﬁm('

Show how biocatalysis satisfy all twelve
' pnnc1ples of green chemistry. )

ﬁﬁ“¥®“?®@@%ﬂ¢w®v@@mﬁ%ﬁw

WCW?NQTI

(1} Descnbe ozomsatlon method for
- purlﬁcatlon of water What are

- advantages ‘and ~disadvantages of
‘this‘méthod ? - 3+2+2=7

‘?"“"M?Waﬁmwww%

e

(i) What ar_e.._non—_ferrous met‘als?

lee some uses of these métals

1+2=3
Ww%?ﬁw @
W%Nn o W

(Inorgamc Materials of Industrial Importance)

1 . Answer the followmg questlons

- OPTION-C

Paper : CHE-RE-6036 -

1x7=7

(a)

Name the. metal oxide which gives the
orange-red colour to the coloured gléss;

wmwwﬁﬁmma%mﬁmm&mwsamt

| w«aﬁml

)

(d)

3 (Sem-6/CBCS) CHE RE1/2/3/4/G 19 '

Give one example of a primary batf.ery.

e B breE

N Wh’at'. is the SI 'unit for, measuﬁhg the

catalytlc activity of a catalyst'?

@WWWWWWSI W” |

ﬁ??

.W.ha’t is meant by antifreeze ?

ool I R 7

Contd.



' (e) |

‘pigment used in paint ?

Draw the structure of orthos1hcate
anion. -~

'. sﬁmmﬂﬁﬂﬁml |

@ .
 fertilizer bag with a grade 28-28-0? .

()

o

What is ‘meant by the label 'on the

«ﬂﬁweﬁﬁm
WC&I&B28
—— 28-0

. lee a brief. d‘scussmn of coloured

_glass. : 2
8 A ﬁm s:{zas STEAG T | |
What are fertlhzer |
s? Wr1t
‘ phosphatlc fertlllzers o ) abouzt '
AR o ‘«T’W e ﬁm frar

What is meant b L
_ y ceramics ? C
Cts propertles Discuss

2

Bt i e
=0 %T@”’WWW

. 3(Sem~6/CBCS]CHERE1/2/3/4/G 20

What is the most common inorganic

(d) What is positive and negat1ve catalysts ?

Give one example of each 2
LA S YIS e NLLs R ¢ O |
- qrais Taiegd

' 3 . Answer any three of the followmg

questlons ' " ~ 5><3—15
o T e %@a f%mr (ﬁzasrm )

(a) What are exploswes ? D1scuss about the
. properties of explosives. - 1+4= 5

'WW%?W@WW
WW!

(b) Discuss about Li-ion battenes Mention

- its advantages. L 3+2=5
Li-SiTe ([ ﬁmm mzanw pall 32113
ﬁﬁWWWI .

(c). What is paints * ? Discuss about dxfferent
composmon of pamts ) 1+4=5

- m%?mﬁ%ﬂw@wﬁmwv
|

. 3(Sem- 6/CBCS)CHEREI/2/3/4/G 21 . . Comd



4.

-~ d) Wnte briefly about superconductlng

: and serm—conductmg ox1de

2‘/2-!-21/2—5' '

| §WW@?‘WWW
'_Bﬁ?‘ﬁﬂn '

(e _‘Whatlls meant by : alloys ? Howl is it

elgsSiﬁed ? Write about gold alloys.

o . 1+2+2 5.,

W@?Cﬂi‘fﬁﬁwmmwl

questlons

‘ - 10><3 30

) A
.() DlSC'L‘lSS about homogeneous and

mechamsm 545
R oo +5=10
WWWWEﬁ
W%WW| - o

3(Sem ~6/CBCS) CHE RE 1/2/3/4/(} 22

Answer any three. of .the followmg‘

hetei |
rogeneous catalysm with its

.(b) Discuss the preparation method and

explosive properties of Lead Azide and

PETN. o 5+5= 10
ma@ﬁ@WPETNaa@‘ﬁmﬁ?{m
RETIT ﬂﬂﬂ%? o\ [ P WI

What are s111cones'> Dlscuss the

preparatlon method and uses of

silicones.. lee the general composition

of glass' S 2+3#3+2=10

~1%1%ﬁww{iﬁ ) BRER Uge AR TR

WWWIWW@‘TW{%WI -

. (d) ,(i). What is meant by prlmary and

secondary battery ? 2
RS o m@ﬁ @%ﬁt qf%lm ﬁi
kU '

(i) Mention the main components of

battery o e 2 :
&R <R LS %WW =
3 (Sem-6/CBCS) CHERE1/2/3/4/G 23 ' ‘_ Contd.



| (' u) Write the advantage of fuel cell

. over . primary -and secondary

'battenes = 2
ﬁﬁa@m G @Tﬁaw?ﬁﬂ
_Aczma aﬁwmn

4(w) What is the d1fference between

E galvamc and electrolytlc cell., 2

'.C’ﬁr@?ﬂwmﬁ% WWA

maﬁqﬁs? .

(v) D1scuss the workmg pr1n01ple of
.lead-amd battery. o 2

m-w @h%awelﬁwmwﬂ

(e
e What is portland cement ? Wnte the

ehem
ical composmon of portland

cement
. DISCUSS 1ts manufacturlng

process.
1+3+6 10

ﬁmm%?ﬁﬁa\e Borss apimte
WMIW%&WWW|

. 3{Sem-6/CBCS) CHE RE1/2/3/4/G 24

h @ . What is fertlllzer grade ? Discuss
” the manufacturing process of urea.

: 2+3=5
mﬁaﬁmmﬁs ?mmaﬁ
oG 9

* (i) Write short notes: .21/.»><2=5
vy ot Brte
1. Fullerenes )
2., Bfon_ze‘
&
j
Contd.
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- .OPTION-D

" Paper : CHE-RE-6046

( Research Methodology for Chemtstry )

Answer the followmg questlons

() Name two ﬂammable chemlca.ls

om
(©
@

| Wﬁasvm
o gms ﬁms&?%w@wwwﬁa
(e

(9)

| 75 e TR st e e |
, What is chermcal abstract ? |

. Chem1ca1 abstract e 1% &l 2

What are E-Journals '9 .

.E-journal W R @t ¢

How
can ‘we ‘safely . store chemlcals ?

. What is monographs >
: Monograph iﬁ'@lﬁs ’i'@'ﬂ‘ ) -

What is full fo
Publication ?

Eamﬁaswm'rocawcfmﬁw

| What is. Journal access ?

?

. 1x10=10

rm of TOC in a scientific »

5

(h)

What is H-index? "

. H-index 3= & 3@ 2
(i) What is the full form of ANOVA? -

' MOVAawfmﬁamﬁﬁ '

What is incineration ?-

. Incineration qﬁt’ﬁ & @ e
Answer the’ followmg questlons 2x5=10
(a) How can.-we recycle and reuse organlc

()

(@)

(e)

solvents ?

WWWWW%W'
R A ?

' What is search englne'-’ Give two

Search engme{%l’(ﬁﬁ‘i@'f ?W EAIESE! >

.

What ate the uses of chem—draw?
Chem—draw EESIEEE forll | .

What is research gate? .

Research gate G R ¢

‘Calculate the Mean and Median of the o

variable Y:
Y 5519 Mean % Median 5‘[‘131‘ bl

T[] 18] 09.|o7'|15I,02 [.13 [15]

o 3 (Sem-6/CBCS) CHE RE1/2/3/4/G 27 -
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3. Answer the following questions:

(a) What is Polynom1a1 regressmn in

_machme learmng? Explain with -

examples
3+2=5

mﬁwaﬁwwﬁm@ﬁ; ?W‘TWW .

Eail!
‘ Or/wa'ar'

Dis: |
| cuss various referencmg styles W1th

examples.

Referencmg ol
@'CE'I -
T f' e %‘zﬁmg

®)

do- -you avoid it? .

3
- 3+2=5

Pl
_e %@fﬂnﬁsmiﬁlﬁﬁsm ?mmqﬁm

o Or/w
Define Mean, Medj

Mention the ad
vantage
is descriptive Statlstlfs pOf cach. What

Mean Medlan
U M .
ATOTROI 3y e@m ode 3 73 fara

statistics 3%-@, ﬁ; W AL Descnptlve

3 (Sea- 6/CBCS) CHE RE1/2/3/4/G 28 -

5x4=20

plaglarlsm ?How -

an' and Mode -

(c)

- What is meant by term Index? Briefly -

- explain the different types of ‘indexes

known to researchers 2+3=5

Term Index {ﬁﬁﬁsaﬁ ? WWW

’ ﬁﬂmlndexﬁﬁmWWWl

. Or/W

What is meant by database'-’ Discuss

(@

3 (Sem-6/CBCS) CHE RE1/2/3/4/6 29

" different types.

briefly about some of the databases
used by researchers in chemistry.

Database @ & 3@ ? I RS M@

- A IRZO =g database 3 ﬁm 1268

o = ,

What is a Transistor ? Explain ’its.
2+3=5

Tran31stor ﬁ5 ??{ﬂﬁ ﬁ]%ﬁ W ﬁamw .

4|

. or/a%dl
Dlscuss the role of blogs with examples
in_different fields of chemistry.

ﬁwa@ﬁﬁ-'aﬂ m@blogsagﬁaw
e ahall

~ Contd. - -




; . 4. Answer the following :

- (@) Write the safety guidelines in case of a

laboratory emergency. What are -the

~most common laboratory accidents in
. .chemistry laboratory?
NS PRI 7l i 2 5 s 2.
A IR ABR 2 9B wE siEeeiee

5+5=10

TS R 7ot el 2 ofew 2
T Or/9et '

_.Writé various steps of writing a Projeét
Report. What is the’ difference between

a research article and a review paper ?

‘Write various.steps of a review paper.

 5+2+3=10

- ‘Project <! oo stéps, g R

L m)

L RZ;:]a:ch article W% Review paper 3 TeH
ALy forat 1 Re.v1‘ew‘ paper 937 fei steps

*”R%‘"l.f :

How. can \.ve'ﬁ'nd and then cite the
published Information ? Discuss by
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1 10x4=40

Explain the .following :

Or/92<
2%4x4=10
(i) Hot Articlés ,

"' (i) Substance Index .

(iii) Subject Index
(iv). Author Index .

Write in brief about correlation and:
regression. ' 5+5=10

Sorrelation W@‘Regre'ssi'o'n Rt AT ,

or/aw

Discuss in brief abbut’_Pblynomial fitting

and chemo-metrics. . O+5=10 .

. ”'Ponnomial fitting ®I% chemo-metrics I
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What 'is MSDS? What k1nd “of
- information does it contain ? Why is it

essential to consult a MSDS before.
.handii-ng any chemical?  :2+3+5=10,
MSDS R 3@ 2 2 e o2 AT 2
e IS *ML TSR Ssite MSDS I
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Discuss the different types and roles of
electronic component involved in a
typical spectrophotometer :

Bt et Spectrophotometer \] @%@ :
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